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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 2 = 20
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 Explain deductive method.

		  {ZJ‘Z {d{Y H$mo ñnîQ> H$s{OE&
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	 (ii)	 What do you mean by technical efficiency?

		  VH$ZrH$s Hw$ebVm go Amn ³¶m g‘PVo h¡?

	 (iii)	 What are Giffen goods?

		  {J{’$Z dñVwE± ³¶m h¢?

	 (iv)	 What do you understand by Budget line?

		  ~OQ> aoIm go Amn ³¶m g‘PVo h¢?

	 (v)	 Explain cross elasticity of demand.

		  ‘m§J H$s {VaN>r bmoM H$mo g‘PmBE&

	 (vi)	 What do you mean by expansion path?

		  {dñVma nW go Amn ³¶m g‘PVo h¢?

	 (vii)	Define production function.

		  CËnmXZ ’$bZ H$mo n[a^m{fV H$s{OE&

	 (viii)	What do you mean by marginal rate of technical 

substitution?

		  VH$ZrH$s à[VñWmnZ H$s gr‘m§V Xa go Amn ³¶m g‘PVo h¡?

	 (ix)	 What is meant by Liquidity trap?

		  VabVm Omb go ³¶m Ame¶ h¡?

	 (x)	 What do you mean by social welfare function?

		  gm‘m{OH$ H$ë¶mU ’$bZ go Amn ³¶m g‘PVo h¡?

	 Section - B	 4 × 10 = 40
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 10 marks.
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IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&

2)	 Explain law of diminishing marginal utility.
	 gr‘mÝV Cn¶mo{JVm õmg {Z¶‘ H$mo g‘PmBE&

3)	 What do you mean by law of demand? Describe various 
determinants of demand.

	 ‘m§J Ho$ {Z¶‘ go Amn ³¶m g‘PVo h¢? ‘m§J Ho$ {d{^ÝZ {ZYm©aH$ VËdm| H$s 
{ddoMZm H$s{OE&

4)	 Clarify the concept of price effect with the help of price 
consumption curve.

	 H$s‘V Cn^moJ dH«$ H$s ghm¶Vm go H$s‘V à^md Ho$ {dMma H$mo ñnîQ> 
H$s{OE&

5)	 Explain the total expenditure method of measuring elasticity of 
demand.

	 ‘m± H$s bmoM H$mo ‘mnZo H$s Hw$b ì¶¶ {d{Y H$mo g‘PmBE&

6)	 What is law of variable proportions?
	 n[adV©Zerb AZwnmVm| H$m {Z¶‘ ³¶m h¡?

7)	 Explain the relationship between average cost (AC) and 
Marginal cost (MC)

	 Am¡gV bmJV (AC) VWm gr‘mÝV bmJV (MC) ‘| g§~§Y H$mo ñnîQ> H$s{O¶o&

8)	 Discuss the equilibrium of a firm in the long run under perfect 
competition.

	 nyU© à{V¶mo{JVm ‘| EH$ ’$‘© Ho$ XrK©-H$mbrZ gÝVwbZ H$s ì¶m»¶m H$s{OE&

9)	 Explain the uncertainty theory of profit.

	 bm^ Ho$ A{ZpíMVVm {gÕmÝV H$mo ñnîQ> H$s{OE&
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	 Section - C	 2 × 20 = 40
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
20 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 20 A§H$m| H$m h¡& 

10)	 Explain the characteristics of Micro and Macro-economics 
and also distinguish between them. Can these two types of 
economic analysis be used simultaneously?

	 ì¶pîQ> Ed§ g‘pîQ> AW©emó H$s {deofVmE± ~VmB¶o VWm BZH$m AÝVa ñnîQ> 
H$s{O¶o & ³¶m BZ XmoZm| àH$ma Ho$ Am{W©H$ {díbofUm| H$m EH$ gmW Cn¶moJ 
{H$¶m Om gH$Vm h¡?	 7+8+5

11)	 What do you mean by ISO-Quant curve? Describe the 
important characteristics of ISO-Quant curve. Also explain 
producer's equilibrium with the help of ISO-product curves.

	 g‘moËnmX dH«$ go Amn ³¶m g‘PVo h¡? g‘moËnmX dH«$m| H$s à‘wI {deofVmAm| 
H$m dU©Z H$s{OE& gmW hr g‘moËnmX dH«$m| H$s ghm¶Vm go CËnmXH$ Ho$ 
gÝVwbZ H$mo ñnîQ> H$s{OE&	 4+6+10

12)	 Define monopoly market. How are price and output of a 
commodity determined under monopoly market in the short-
run and long -run of a firm?

	 EH$m{YH$mar ~mOma H$mo n[a^m{fV H$s{O¶o& EH$m{YH$mar ~mOma ‘| ’$‘© H$m 
AënH$mb d XrK©H$mb ‘| dñVw H$s H$s‘V d CËnmXZ H$m {ZYm©aU {H$g 
àH$ma hmoVm h¡?	 5+15

13)	 Examine critically the Ricardian Theory of Rent.
	 [aH$m‹S>m] Ho$ bJmZ {gÕmÝV H$s AmbmoMZmË‘H$ g‘rjm H$s{O¶o&


